(8)

(d) What is indirect or shorter truth table
method? Explain the characteristics of this
method.

HATF O] STl &S A5 Ayl e
TS I QAMCA? G2 wOT PR TR
gl

Or/

Determine the validity of the following
arguments with the help of direct truth table
method :

2P STepe] Biferel (ST SRS T I B
g el 90

i) 'pOgq
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(i) (pvq)Dp
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%
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1. Answer the following as directed : 1x10=10
fRafeRecares fRoemE® Te finn
(a) If truth’ is the property of proposition,
then ‘validity’ is the property of !
( Fill in the blank )

ﬂﬁ ‘7{7_[\3@, I[/AT B9 .',8[’ e ‘NW’ -q’a
Q9 |

(R 3 479 390 )
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(b)

(c)

(d)

(e)

A23/898

(2)

“In an inductive argument, if all the
premises are true, then the conclusion
may ecither be true or false.” Is the
statement true?

“qbr SRS e, I SHREF SR
I T W, (03 Pramco! o8 T A A
T8 39 oI |77 R SRECH! oA ?

“Only graduates are eligible for the post”
—transform this ordinary sentence
into a logical proposition.

“@eE  FeETER R MOR W
QA—Te  ANRT  IFORF SRS
IowCe FATI 91 |

The opposition of A and E proposition is

called .

( Fill in the blank )
A 359 9% E 3551 qrew Reqfos @
Aq |

( %R 57 [ 1)
In which figure of syllogism the position of

middle term is predicate in the major
premise and subject in the minor premise?

T (IIACO! FZS (RHHCH! 4 SR 51
R S 1% SYR 670 SR o AT ?

( Continued )

(3)

(f) Write one characteristic of symbolic logic.

AT SERET b1 ¢ forar |

(g) “Classical logic is related to symbolic logic
as embryo to adult organism.” Who said

this?

“oaq S G QAo @R R T,
ATHRIG OIREEE TS AT
HREME O} 93 AT @2 FIEE @A
e 2

(h) In disjunctive  proposition/alternative
proposition,  the  logical connective
‘either—or’ is used in its inclusive sense.

[P

( Choose the correct option )

REEs. 59/ BTSSR AT
F-uq’ WA JFIMBF HYS IR 9 A |

( o Reaco MR Bferear )

(i) In what condition an implicative function
will be false?

ﬁsmmﬁ%@wwi’w

() I P is false (F), then what will be the
truth value of Pvp ?
7f P w9 (F) =, (908 P Vp I &
A7
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2. Answer briefly : 2x5=10

St S i

(a) Write two differences between induction
and deduction.

S S W O SEee W 10
AL fera |

(b) Define categorical syllogism.

Raeers e ik A |

(c) - What is meant by figures of syllogism?

T T Jferce e 2

(d) Write two utilities of the uses of symbols.

21T JIZRT 701 TSt o |

(e) Symbolize the following proposition :

“It is false that if he comes then I shall
not go.”

©ER IO AOPIF oS ot
“ 3o iy @, 3 B =zt B e’

A23/898 ( Continued )
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(5)
3. Answer the following questions (any four) : 5x4=20
kiR e Tet fin (R e o)
(a) Explain briefly the relation between truth

(b)

(c)

(d)

(e)

A23/898

and validity.
ool HF (IYOR A& 770 SLe I 341 |

Test the validity of the mood ‘All’ in first
figure.

oAy e ‘All’ R S{F‘a\o ISl 4T
901

Explain the various kinds of general
propositions.

fRfSn PRI YR HPHR W 0

What is compound proposition? State
different types of compound propositions
with example.

Qe o7 IR @ 7 Turzaepiz [Kieq oIk
(Ao PR Teay 741 |

Construct the truth tables of basic truth
functions.

N 370 FerpTgzd STorel Siferl o1 1 |
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4. Answer the following questions :

(6)

What is logical constant? Is ‘~’ (curl) or
negation a logical connective? If not,
then why? Explain.

P SRIR FF @ATA? ~ (curl) I TRLT
oz ot @ W2 IWM T, =@ [T
I F41 |

TafeiRe 2pya Tex faw

(a)

(b)

A23/898

What is argument? Discuss broadly the
relation between proposition and argument.

[E IR @ACA? /A GF P& 6T TR
AR SO 91 |

Or/«13dT

What is categorical proposition? Explain
with examples the different types of
categorical proposition.

aeers I/ I Q@E 2 Risa R [eers
I SRIRIPTR [0 41 |

Explain with diagram about representation
of oppositions in square of opposition.

R feraes BrHE RES  GEmE
Togre $R9 AR, e sz e 40 |

( Continued )

10x4=40

A23/898

(2

Or/713d1

What is immediate inference? Mention the
rules of conversion. Can O proposition be
converted? If not, then why? Explain.

ST S e @ ? RER TR
Seme 9911 O IR RS A A2
TR, Coce f¥% 2 T 40

What is symbolic logic? Describe the
relation between symbolic logic and
traditional logic.

SO SHREE I @AREA? AT
Cratican i) Sl S isg B1R0IC) FReM TG T
Fefeq 40|

Or/ [

What is simple proposition? Explain the
differences between simple proposition and

compound proposition.

Wmm@m?mamwﬁr%
o S ANLFPR I 41
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